

Adomian decomposition method for solving the Kuramoto-Tsuzuki equationY. Mahmoudi¹, F. Misagh², A. Ahmadpour Parvizan³, N. Rafati Maleki⁴

Department of Mathematics, Tabriz branch, Islamic Azad University, Tabriz, Iran.

mahmoudi@iaut.ac.ir

Abstract: In this paper the Adomian decomposition method (ADM) and modified Adomian decomposition method (MADM) are used to solve the homogenous and inhomogeneous Kuramoto-Tsuzuki equations. ADM approximate solution, which is obtained as a series has a reasonable residual error. MADM gets the exact solution of inhomogeneous Kuramoto-Tsuzuki equation. Comparison of the results with those of ADM, MADM and finite difference scheme shows the accuracy of the ADM and MADM methods.

[Y. Mahmoudi, F. Misagh, A. Ahmadpour Parvizan, N. Rafati Maleki. **Adomian decomposition method for solving the Kuramoto-Tsuzuki equation.** *Life Sci J* 2012;9(2s):49-53] (ISSN:1097-8135). <http://www.lifesciencesite.com>. 9

keywords: Adomian decomposition method; Modified Adomian decomposition method; Kuramoto-Tsuzuki equation;

1. Introduction

The inhomogeneous Kuramoto-Tsuzuki equation is as follows

$$\frac{\partial \omega}{\partial t} = (1 + ic_1) \frac{\partial^2 \omega}{\partial x^2} + \omega - (1 + ic_2) |\omega|^2 \omega + \psi(x, t), (x, t) \in (0, 1) \times (0, T), \quad (1-1)$$

with the initial condition

$$\omega(x, 0) = \omega_0(x), x \in [0, 1], \quad (1-2)$$

and homogeneous boundary conditions

$$\frac{\partial \omega}{\partial x}(0, t) = 0, \frac{\partial \omega}{\partial x}(1, t) = 0, t \in (0, T) \quad (1-3)$$

where c_1 and c_2 are two real constants, $\omega(x, t)$ is an unknown complex function, $\omega_0(x)$ and $\psi(x, t)$ are given complex functions.

Equation (1-1) describes the behavior of many two-component systems in a neighborhood of the bifurcation point [9]. Reaction-diffusion type equations have been applied in the study of broad class of nonlinear processes, including a well-known synergetic model [3,10]. The problem of constructing and validating difference schemes for these classes of problems has been in detail taken up in [7,8]. A finite element Galerkin method had been discussed in [11,12]. Tsertsvadze studied in [13] the convergence of difference schemes for the Kuramoto-Tsuzuki equation and for systems of reaction-diffusion type. In this paper, we use the ADM and MADM to solve equation (1-1).

2. Adomian Decomposition Method

The decomposition procedure of Adomian was first proposed by the American mathematician, G. Adomian (1923-1996) and has been applied already to a wide class of stochastic and deterministic problems in science and engineering. It is based on the search for a solution in the form of a series and on decomposing the nonlinear operator into a series in which the terms are calculated recursively using Adomian polynomials [2].

In this method, the nonlinear function in the equation is decomposed into terms of special polynomials called *Adomian's polynomials* and then the terms of the solution which is regarded as a series, are determined recurrently.

Consider the differential equation

$$F(u) = g(x), x \in \Omega, \quad (2-1)$$

where F represents a general nonlinear ordinary differential operator involving both linear and nonlinear parts and $g(x)$ is a given function. Equation (2-1) can be written as

$$Lu + Ru + Nu = g(x), \quad (2-2)$$

where L is an easily invertible operator, which is usually taken as the highest-ordered derivative, R is the reminder of the linear operator, and N is the nonlinear term in $F(u)$.

Applying the inverse operator L^{-1} to (2-2) yields

$$L^{-1}Lu = L^{-1}g - L^{-1}Ru - L^{-1}Nu, \quad (2-3)$$

¹ E-mail: mahmoudi@iaut.ac.ir

and therefore

$$u = c + L^{-1}g - L^{-1}Ru - L^{-1}Nu, \quad (2-4)$$

where c is the integration constant and satisfies $Lc = 0$. Based on the ADM, the solution of Eq. (2-1) is regarded as

$$u = \sum_{n=0}^{\infty} u_n, \quad (2-5)$$

and the nonlinear term Nu is decomposed as follows

$$Nu = \sum_{n=0}^{\infty} A_n, \quad (2-6)$$

where the components A_n are Adomian's polynomials which are calculated by the formula

$$A_n(u_0, \dots, u_n) = \frac{1}{n!} \frac{d^n}{d\lambda^n} [N[\sum_{k=0}^{\infty} \lambda^k u_k]]_{\lambda=0}, n \geq 0. \quad (2-7)$$

Substituting (2-6) and (2-5) in (2-4) results

$$\sum_{n=0}^{\infty} u_n = c + L^{-1}g - L^{-1}R \sum_{n=0}^{\infty} u_n - L^{-1} \sum_{n=0}^{\infty} A_n. \quad (2-8)$$

Now according to the decomposition procedure of Adomian, we can obtain the components u_n s by the following recurrent relation

$$u_0 = c + L^{-1}g, \quad (2-9)$$

$$u_n = -L^{-1}Ru_{n-1} - L^{-1}A_{n-1}, \quad n \geq 1. \quad (2-10)$$

The n -term approximation of the solution is defined as $\theta_n = \sum_{k=0}^n u_k$ and $u = \lim_{n \rightarrow \infty} \theta_n$. As we know, the more terms added to the approximate solution, the more accurate it would be.

Convergence of Adomian decomposition scheme was established by many authors using fixed point theorem, see for example [4,5,6].

For inhomogeneous equations a simple strategy is used to increase the convergent rate. In performing the ADM, we can expand $g(x) = g_1(x) + g_2(x)$ and then we use the following substitution in (2-3) to get the exact solution

$$\begin{aligned} u_0 &= c + L^{-1}g_1, \\ u_1 &= L^{-1}g_2 - L^{-1}Ru_0 - L^{-1}A_0, \\ u_n &= -L^{-1}Ru_{n-1} - L^{-1}A_{n-1}, n \geq 2. \end{aligned} \quad (2-11)$$

where c is computed with the initial conditions of the problem. the rate of convergence depends on choosing the functions g_1 and g_2 . Usually they have chosen in such a way that $u_1 = u_2 = \dots = 0$. This method is referred as modified Adomian decomposition method (MADM).

3. Illustrations

In this section, we present some examples of Kuramoto-Tsuzuki equation. We compare the results with the exact solution.

Example 1: Consider the homogenous equation ([14])

$$\frac{\partial \omega}{\partial t} = (1+i) \frac{\partial^2 \omega}{\partial x^2} + \omega - (1+i)|\omega|^2 \omega, \quad (3-1)$$

with the initial and boundary conditions

$$\omega(x, 0) = \frac{\sqrt{2}}{2} \exp\left(i \frac{x}{2}\right), \quad (3-2)$$

$$\omega(x, t) = \omega(x + 4\pi, t), t \in (0, T], \quad (3-3)$$

and the exact solution is

$$\omega(x, t) = \frac{\sqrt{2}}{2} \exp\left(i\left(\frac{x}{2} - t\right)\right). \quad (3-4)$$

Eq. (3-1) suggests the linear operator

$$L\omega = \frac{\partial \omega}{\partial t}, \quad (3-5)$$

with the property $L(c) = 0$,

$$R\omega = -(1+i) \frac{\partial^2 \omega}{\partial x^2} - \omega, \quad (3-6)$$

and the nonlinear operator as

$$N\omega = (1+i)|\omega|^2 \omega = (1+i)\omega^2 \bar{\omega}. \quad (3-7)$$

The inverse operator L^{-1} , is as follows

$$L^{-1}\omega = c + \int_0^t \omega(\tau) d\tau, \quad (3-8)$$

the initial condition yields that $c = 0$.

To solve Eq. (3-1) by means of ADM, we choose the initial approximation

$$\omega_0(x, t) = \omega(x, 0) = \frac{\sqrt{3}}{2} \exp\left(i \frac{x}{2}\right), \quad (3-9)$$

then according to (2-9) we get

$$\omega_n(x, t) = \int_0^t \left[(1+i) \frac{\partial^2 \omega_{n-1}(x, \tau)}{\partial x^2} + \omega_{n-1}(x, \tau) - (1+i) A_{n-1}(x, \tau) \right] d\tau, \quad (3-10)$$

where $A_n(x, t)$ is the n th Adomian polynomial. According to (2-7) A_n is obtain as

$$A_n = \sum_{k=0}^n \omega_{n-k} \sum_{s=0}^k \omega_{k-s} \bar{\omega}_s, \quad (3-11)$$

For example

$$\begin{aligned} A_0 &= \omega_0^2 \bar{\omega}_0, \\ A_1 &= \omega_0^2 \bar{\omega}_1 + 2\omega_0 \omega_1 \bar{\omega}_0, \\ A_2 &= 2\omega_2 \omega_0 \bar{\omega}_0 + \omega_1^2 \bar{\omega}_0 + 2\omega_1 \omega_0 \bar{\omega}_1 + \omega_0^2 \bar{\omega}_2, \\ A_3 &= 2\omega_3 \omega_0 \bar{\omega}_0 + 2\omega_2 \omega_1 \bar{\omega}_0 + 2\omega_2 \omega_0 \bar{\omega}_1 + \omega_1^2 \bar{\omega}_1 + 2\omega_1 \omega_0 \bar{\omega}_2 + \omega_0^2 \bar{\omega}_3, \\ A_4 &= 2\omega_4 \omega_0 \bar{\omega}_0 + 2\omega_3 \omega_1 \bar{\omega}_0 + 2\omega_3 \omega_0 \bar{\omega}_1 + \omega_2^2 \bar{\omega}_0 + 2\omega_2 \omega_1 \bar{\omega}_1 + 2\omega_2 \omega_0 \bar{\omega}_2 \\ &\quad + \omega_1^2 \bar{\omega}_2 + 2\omega_1 \omega_0 \bar{\omega}_3 + \omega_0^2 \bar{\omega}_4, \\ &\vdots \end{aligned} \quad (3-12)$$

From (3-9), (3-10) and (3-11) we successively obtain

$$\begin{aligned} \omega_0(x, t) &= \frac{\sqrt{3}}{2} \exp\left(i \frac{x}{2}\right), \\ \omega_1(x, t) &= \frac{\sqrt{3}}{2} \exp\left(i \frac{x}{2}\right) (-it), \\ \omega_2(x, t) &= \frac{\sqrt{3}}{2} \exp\left(i \frac{x}{2}\right) \frac{(-it)^2}{2!}, \\ \omega_3(x, t) &= \frac{\sqrt{3}}{2} \exp\left(i \frac{x}{2}\right) \frac{(-it)^3}{3!}, \\ \omega_4(x, t) &= \frac{\sqrt{3}}{2} \exp\left(i \frac{x}{2}\right) \frac{(-it)^4}{4!}, \\ &\vdots \end{aligned} \quad (3-13)$$

and so on. Therefore, we get the solution

$$\omega = \frac{\sqrt{3}}{2} \exp\left(i \frac{x}{2}\right) \left[1 + (-it) + \frac{(-it)^2}{2!} + \frac{(-it)^3}{3!} + \frac{(-it)^4}{4!} + \dots \right], \quad (3-14)$$

Obviously (3-14) is the Taylor expansion of $\omega(x, t) = \frac{\sqrt{3}}{2} \exp\left(i\left(\frac{x}{2} - t\right)\right)$, which is the exact solution of the Eq. (3-1).

Example 2: Consider the inhomogeneous equation ([14])

$$\frac{\partial \omega}{\partial t} = (1+i) \frac{\partial^2 \omega}{\partial x^2} + \omega - (1+i)|\omega|^2 \omega + \psi(x, t), \quad (3-15)$$

where

$$\begin{aligned} \psi(x, t) &= [\pi^2 - \sin^2 \pi x + i(2t + 2\pi^2 - 3 \cos^2 \pi x)] e^{it^2} \cos \pi x, \\ (x, t) &\in (0, 1) \times (0, T], \end{aligned} \quad (3-16)$$

with the initial and boundary conditions

$$\omega(x, 0) = \cos \pi x, x \in [0, 1], \quad (3-17)$$

$$\frac{\partial \omega}{\partial x}(0, t) = 0, \frac{\partial \omega}{\partial x}(1, t) = 0, t \in (0, T], \quad (3-18)$$

whose exact solution is

$$\omega(x, t) = e^{it^2} \cos \pi x, \quad (3-19)$$

We choose L , R and N like (3-5), (3-6) and (3-7). To solve Eq. (3-15) by means of MADM, we choose

$\psi(x, t) = \psi_1(x, t) + \psi_2(x, t)$ where

$$\psi_1(x, t) = 2it e^{it^2} \cos \pi x, \quad (3-20)$$

$$\psi_2(x, t) = [\pi^2 - \sin^2 \pi x + i(2\pi^2 - 3 \cos^2 \pi x)] e^{it^2} \cos \pi x.$$

Using (2-11) we get

$$\begin{aligned}\omega_0(x, t) &= L^{-1}\psi_1(x, t) + \omega(x, 0) = e^{it^4} \cos \pi x, \\ \omega_1(x, t) &= L^{-1}\psi_2(x, t) - L^{-1}Ru_0(x, t) - L^{-1}A_0(x, t) = 0 \\ \omega_n(x, t) &= -L^{-1}Ru_{n-1}(x, t) - L^{-1}A_{n-1}(x, t) = 0, n = 2, 3, \dots,\end{aligned}\quad (3-21)$$

then obviously we get the exact solution

$$\omega(x, t) = \sum_{n=0}^{\infty} \omega_n(x, t) = e^{it^4} \cos \pi x. \quad (3-22)$$

Example 3: Consider the inhomogeneous initial-boundary nonlinear equation system ([1])

$$\frac{\partial \omega}{\partial t} = (1+i) \frac{\partial^2 \omega}{\partial x^2} - (1+i) |\omega|^2 \omega + \psi(x, t), \quad (3-23)$$

where

$$\begin{aligned}\psi(x, t) &= (1+i) \exp\left(-\frac{(i+1)t}{10}\right) \sin \pi x \left[-\frac{1}{10} + \pi^2 + \exp\left(-\frac{2t}{10}\right) \sin^2 \pi x\right], \\ (x, t) &\in (0, 1) \times (0, T],\end{aligned}\quad (3-24)$$

with the initial and boundary conditions

$$\omega(x, 0) = \sin \pi x, x \in [0, 1], \quad (3-25)$$

$$\omega(0, t) = \omega(1, t) = 0, t \in (0, T], \quad (3-26)$$

whose exact solution is

$$\omega(x, t) = \exp\left(-\frac{(i+1)t}{10}\right) \sin \pi x. \quad (3-27)$$

We choose L and N like (3-5) and (3-6) and $R = (1+i) \frac{\partial^2}{\partial x^2}$. To solve Eq. (3-15) by means of MADM, we choose

$$\begin{aligned}\psi_1(x, t) &= -\frac{(i+1)}{10} \exp\left(-\frac{(i+1)t}{10}\right) \sin \pi x, \\ \psi_2(x, t) &= \psi(x, t) = (1+i) \exp\left(-\frac{(i+1)t}{10}\right) \sin \pi x \left[\pi^2 + \exp\left(-\frac{2t}{10}\right) \sin^2 \pi x\right].\end{aligned}\quad (3-28)$$

Using (2-11) we get

$$\omega_0(x, t) = \exp\left(-\frac{(i+1)t}{10}\right) \sin \pi x. \quad (3-29)$$

$$\omega_n(x, t) = 0, n = 1, 2, \dots, \quad (3-30)$$

then obviously we get the exact solution

$$\omega(x, t) = \sum_{n=0}^{\infty} \omega_n(x, t) = \exp\left(-\frac{(i+1)t}{10}\right) \sin \pi x. \quad (3-31)$$

Example 4: Consider the inhomogeneous initial-boundary nonlinear equation system ([1])

$$\frac{\partial \omega}{\partial t} = (1+i) \frac{\partial^2 \omega}{\partial x^2} - (1+i) |\omega|^2 \omega + \psi(x, t), \quad (3-32)$$

where

$$\begin{aligned}\psi(x, t) &= \exp\left((1+i) \left(\frac{t}{5} - 1\right)^2\right) \left[\frac{2}{5} \left(\frac{t}{5} - 1\right) + \pi^2\right. \\ &\quad \left.+ \exp\left(2 \left(\frac{t}{5} - 1\right)^2\right) \sin^2 \pi x + \frac{2i}{5} \left(\frac{t}{5} - 1\right)\right] \sin \pi x, \\ (x, t) &\in (0, 1) \times (0, T],\end{aligned}\quad (3-33)$$

with the initial and boundary conditions

$$\omega(x, 0) = \exp(i+1) \sin \pi x, x \in [0, 1], \quad (3-34)$$

$$\omega(0, t) = \omega(1, t) = 0, t \in (0, T] \quad (3-35)$$

whose exact solution is

$$\omega(x, t) = \exp\left((1+i) \left(\frac{t}{5} - 1\right)^2\right) \sin \pi x. \quad (3-36)$$

We choose L and N like (3-5) and (3-6) and $R = (1+i) \frac{\partial^2}{\partial x^2}$. To solve Eq. (3-15) by means modified ADM, we choose

$$\psi_1(x, t) = \frac{2}{5} \left(\frac{t}{5} - 1\right) \exp\left((1+i) \left(\frac{t}{5} - 1\right)^2\right), \quad (3-37)$$

$$\begin{aligned} \psi_2(x, t) = & \exp\left((1+i)\left(\frac{t}{5}-1\right)^2\right) \\ & \times \left[\pi^2 + \exp\left(2\left(\frac{t}{5}-1\right)^2\right)\sin^2\pi x + \frac{2i}{5}\left(\frac{t}{5}-1\right)\right]\sin\pi x. \end{aligned} \quad (3-38)$$

Using (2-11) we get

$$\omega_0(x, t) = \exp\left((1+i)\left(\frac{t}{5}-1\right)^2\right)\sin\pi x. \quad (3-39)$$

$$\omega_n(x, t) = 0, n = 1, 2, \dots, \quad (3-40)$$

then obviously we get the exact solution

$$\omega(x, t) = \sum_{n=0}^{\infty} \omega_n(x, t) = \exp\left((1+i)\left(\frac{t}{5}-1\right)^2\right)\sin\pi x. \quad (3-41)$$

4. Conclusions

In this paper, Adomian decomposition method and modified Adomian decomposition method have successfully used for solving the homogeneous and inhomogeneous Kuramoto-Tsuzuki equations respectively. We provide the exact solutions for Kuramoto-Tsuzuki equations whereas finite difference schemes proposed in [14] and [1] requires more computations and get low accurate approximations.

References

- Abidi F., Ayadi M., Omrani K., Stability and convergence of difference scheme for nonlinear evolutionary type equations, *J. Appl. Math. Comput.* 27 (2008), 293-305.
- Adomian G., Solving frontier problems of physics: the decomposition method, Kluwer Academic Publisher, Dordrecht, 1994.
- Akhromeeva T.S., Kurdyumov S.P., Malinetskii G.G., Samarskii A.A., On classification of solutions of nonlinear diffusion equations in a neighborhood of a bifurcation point. *Itogi Nauki Teh. Sovrem. Probl. Mat. Noveishye Dostizheniya*, 28 (1986), 207-313 (in Russian).
- Cherruault Y., Convergence of Adomian's method, *Kybernetes* 18 (1989), 31-38.
- Chrysos M., Sanchez F., Cherruault Y., Improvement of convergence of Adomian's method using Padé approximants, *Kybernetes* 31 (2002), 884-895.
- Himoun N., Abbaoui K., Cherruault Y., New results of convergence of Adomian's method, *Kybernetes* 10 (1999), 423-429.
- Ivanauskas F., On convergence and stability of difference schemes for derivative nonlinear evolution equations, *Liet. Mat. Rink.*, 36 (1996), 10-20.
- Ivanauskas F., On convergence of difference schemes for nonlinear Schrödinger equations, the Kuramoto-Tsuzuki equation, and reaction-diffusion type systems, *Liet. Mat. Rink.*, 34 (1994), 32-51.
- Kuramoto Y., Tsuzuki T., On the formation of dissipative structures in reaction-diffusion systems, *Prog. Theor. Phys.*, 54 (1975), 678-699.
- Nikolis G., Prigozhin I., *Self-Organization in Nonequilibrium Systems*, Mir, Moscow (1979), (in Russian).
- Omrani K., Optimal L^∞ error estimates for finite element Galerkin methods for nonlinear evolution equations, *J. Appl. Math. Comput.*, 26(1-2) (2008), 247-262.
- Omrani K., Convergence of Galerkin approximations for the Kuramoto-Tsuzuki equation, *Numer. Methods Partial Differ. Equ.*, 21(5) (2005), 961-975.
- Tsertsvadze G.Z., On the convergence of a linearized difference scheme for the Kuramoto-Tsuzuki equation and for systems of reaction-diffusion type, *Zh. Vycisl. Mat. Mat. Fiz.*, 31 (1991), 698-707.
- Wang T., Guo B., A robust semi-explicit difference scheme for the Kuramoto-Tsuzuki equation, *J. Compute. Appl. Math.*, 233 (2009), 878-888.

12/15/2012